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Q Preview Question

= Bl 1-1‘I7\I No Limit
1 $p> s dogd sl dlacll yolgs plaziwl o
Evaluate b2 — (3a + b)3 if <€)y b2 — (3a + b)3 dabd 2ay
a=-—2and b = 4. .b=4 ya=-2
a 22 O
b 10 O
. 24 O
4 8 O
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Q Preview Question

149Vl Jolgal) dgazll Ol Jul=i

Factor the polynomial.

10x2% — 20x.

10x(x — 2)

o

10x%(x — 2)

=

¢ 20x(x—1)

x*(10x —2)

o

0%

BoECT

\m

glalse ) agaal 55

10x% — 20x

No Limit

o



Q Preview Question

Which algebraic expression

represents the verbal expression

“the quotient of 5 less than a

number and 1277

n—5
' T12
5
b et i
12 "
ol =1+ 12
5—n
d. 12

0%

BoECT

\w

B ) Jias dupal) juladl) (g

anl) Ao a6 (e dagiha 5 dacd pali”
12

No Limit

o



Q Preview Question

= Bl 1-1‘I7\I No Limit
1 blgbualy dgnzdl SVsleall J> o
If 6x — 12 = 18, what is the value of dad La 6x — 12 = 18 o< 1))
7x — 57 "
al 11 o
b. 5 o
c 30 o
d 8 o)

0%



Q Preview Question

1dilball dayd)l O¥dIRe J>

Solve the equation

|lx—5|+4=09.

« 10,10}

d {0}
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BoECT

\m

Jx — 5] +4 =9 dslad) Ja

No Limit
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Q Preview Question

Bl 1-1‘I7\I No Limit
10lgbl 83amie Sliliall J> i )
Identify the graph of the solution set da dogaaal Alul) Jifiadl) aas
of 2x+ 3 < 9. 2ri3 <09
o —— |
a | | | O
—-2-10123 456

—2-10123456

0%



Q Preview Question

= Bl 1-1‘& No Limit

1Jlgwly OBVl Jul=i o
Find the range of the relation A3Mal) e 2agl
((-2,3),(-1,3), (-1,5)} e

then determine whether the relation -llage flhe ablal)culs b o e -

is a function.

ala¢«{3,5}

{3,5}; function

aa {-2,—-1}

| {—2,—1}; function

Al Cud ¢f{—2,—1}

{—2,—1}; not function

alla cuwd ¢f3,5}

{3,5}; not function

0%



Q Preview Question

1duwlidll §)g.ab Al ddleal 4US

Write 3y =4x+ 5 in standard

form.
a 4x—3y=5
b 4x+3y =25

c. 41_3y+5:0

d 4x—3y=-5

0%

BoECT

1 o |

ALoulidl) Dinall 3y = 4x + 5 <)

No Limit

o



Q Preview Question

1ozl slrell go aiiue Jio

What is the slope of a line that is

parallel to the graph of

y=—2x+ 37
a| Z
1
b —_—
Z
1
) [
2
o —2

0%

BaEI - ‘ [ | No Limit
(i
1 i) ) (gles pufiiesa Jia ob Lo
fty=—2x+3
O
O
O
O



Q Preview Question

= Bl 1-1‘& No Limit
1 ghially Juall duay dslse Sl o

Write an equation in slope—intercept dlis adiual aladally Jrall ddvay dltlaa i)
form for the line that has a slope of (0,—2) dadilhs a9 3
3 and passes through (0, —-2).

a Y=2x+3 @)

b Yy=3x—2 @)

| ¥=2%—3 O

i y=3x+2 @)

0%



Q Preview Question

Tdi>)d dld deud Sl

For which function does

fl=5) e
a f(x) =|-2x|
b f(x) = [2x]
« f(x) =[]
a| Flx) =24

0%

Bo@EC 1 ‘ 0
of (—3) # —1 comida g

No Limit

o



Q Preview Question

= E&ET 1 ‘m No Limit
Tdasp il Jlgdl Oy g5 (5 )
Write an equation for the graph ol Cpmal)  Slul) a3l Alalea )

shown below.

of X
o y=(x+2)* '®)
b Y=x"+2 '®)
¢ y=x*-2 ®)
i y=(x—2)2 O

0%



Q Preview Question

= Bl 1-1‘& No Limit
1 &hs Olas el J> o

The first equation of the system 3 (B dag puaa oliaf QUL 3 oY) Alslaal)
below is multiplied by 3, by what cadal 2B Aaleal) 4y Capdain (531 a2ella
number would you multiply the fraall e x il
second equation to eliminate the x 4x -3y =6
variable by adding? 6x+y =10
4x -3y =6
6x+y=10

2 2 O

b.| —2 O

¢« 9 @)

d —9 O

0%



Q Preview Question

1 il ol Sliglie pliss >

Which system of inequalities is

graphed?
y<4-2x
3
y=z5x—3
3
y2§x—3
y<4-2x
y<4-—2x
>3x—3
Yy < gk
y>4-—2x
<3x_3
Yy=3X

EsECT

\m

Slily Jhaall cilisliial) o5 La

‘h)'
t\ ‘/.
0 /’/ X l_
)4 |
AT
H L
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Q Preview Question

1 dgiunall S50

What is the a;, entry in matrix

1 12 13
a=|2 3 14,

3 4 1
4 1 2

. 3

o 14

. 12

0 4

0%

BoECT

*A =

\w

1 12 13
2 3 14
3 4 1
4 1 2

No Limit

o



Q Preview Question

EsEHCC 1-1‘& No Limit
156 gauaall Lo o
Find the product [:i 3 [; _g] [:? 3] ; [; _g] Capal) il aagl
if possible. OSal ¢
(Saa £
a O
not possible
b. [_01 _(2]] O
= 3l 0
o« [4 o

0%



Q Preview Question

= Bl 1-1‘I7\I No Limit
1688 wle iz Wil pulzilly 32l SLLI by dawdy po o
Simplify (—2x*y3)(—-7x%y2). (=2x74y3)(—7x0y2) jumdl) alus
Assume that no variable equals (. 0 golow jta 2a g Y il b
a. 14x%y @)
14y
b _x_z O
o 14xy? O
2
d 7y O

0%



Q Preview Question

1dolgn)l Wl 392zl ClyiS Julog

(x — 3) is one factor of

x3 +4x% — 11x — 30.

Find the remaining factors.

| x—=5).(x+2)

Q

| (¥—6)(x4a5])

o

- (x+2),(x+5)

g

(x—5);(x+ &)

a

0%

BoECT

No Limit

\w

o

Jalge 2l g (x — 3)
X%+ 4x% —11x — 30
Auisall Jal gad) aa gl



Q Preview Question

= EsECT 1-1‘& No Limit
1 y)laol oSkl duazig Wily gzl 85088 Jlgadl Juias i
Estimate the x-coordinate at which a aBe dad odic aag s x %,3‘-"*?1 g
relative maximum occurs. iy PP,
2 /y 4 ;
-= 1
a |
N |
Y | —
a| —2:5 O
b 1 5 O
o 1 O
1
d _E O

0%



Q Preview Question

= BaEI - ‘m No Limit
1 392> 88 @l &dadzll Hlasl o
Determine consecutive integer a Al x poaial) sl ddlatal) andl) ais

values of x between which real J(x) = x3 —2x% + 51 ids jha lgin

zero is located of

f(x) =x3—2x* +5.

x=—15x2=03u8

Between x = 0andx = —1

X=—29x=-3 n

Between x = —3andx = -2

XxX=—1y3x=-2 Ou

-

Between x = —2andx = —1

X=2 =1 ¢

Between x = 1andx =2

0%



